
1SSC CGL 2025 | SET - 32KD PUBLICATION Contact us:- 9555108888, 9555208888

K
D
 P

U
B
LI

C
A
T
IO

N

1. (c)

Pages Books

Diaries Notebooks

2. (c) Given word  BINDER
Arranged in English
alphabetical order  B D
E I N R

3. (b) '–'  Female
'+'  Male
Married Couple
Siblings
  Difference of a
generation

4

3

2

–

+

+

1
+

5

Thus, 4 is 2's Paternal
Grandmother or Father's
Mother.

4. (c)

5. (d) W I S K

D R H P

Opp.

And, L E N T

O V M G

Opp.

Similarly, B A N G

Y Z M T

Opp.

6. (a) 18 – 36 – 72 – 107
 18 × 2 = 36
 36 × 2 = 72
 72 + 35 = 107

And,
15 – 30 – 60 – 95

 15 × 2 = 30
 30 × 2 = 60
 60 + 35 = 95

Similarly,
22 – 44 – 88 – 123

 22 × 2 = 44
 44 × 2 = 88
 88 + 35= 123

7. (d) 25    30    40    55    75    100

+5

+5 +5 +5 +5

+10 +15 +20 +25

8. (a) Alphabets  ENTOMB
Alphabetical  BEMNOT

9. (d)
10. (d)
11. (b) A parasite is an organism

that live in or an another
organism (the host) and
benefits by deriving
nutrients at the host's
expense.
Similarly,
Amaltas (A type of flowering
plant) lives on a tree (the
host) and benefits from it.

12. (c) (213, 157)
 157 + 56 = 213 (1st number)

(185, 129)
 129 + 56 = 185 (1st number)

Similarly,
(164, 108)

 108 + 56 = 164 (1st number)
13. (b) 540 – 188 – 128

 (188 – 128) × 9
 60 × 9 = 540 (1st number)

72 – 284 – 266 (odd)
 (284 – 266) × 9
 18 × 9 = 162  (1st number)

81 – 101 – 92
 (101 – 92) × 9
 9 × 9 = 81 (1st number)

90 – 22 – 12
 (22 – 12) × 9
 10 × 9 = 90 (1st number)

14. (a) I M H P

M P J Q

Q S L R

U V N S

Y Y P T

+4 +3 +2 +1

+1+2+3+4

+4 +3 +2 +1

+1+2+3+4

15. (a) F A C E D

G Z D D E

+1 +1 +1–1–1

And,

V A C A Y

W Z D Z Z

+1 +1 +1–1–1

Similarly,

L A B O R

M Z C N S

+1 +1 +1–1–1

16. (b) 247  13 + 16 × 3 – 148 =
119

 247  13 – 16 × 3 + 148 =
119

 19 – 16 × 3 + 148 = 119
 19 + 148 – 48 = 119
 167 – 48 = 119
 119 = 119 (L.H.S = R.H.S)

17. (c)
18. (a)
19. (a)

20. (d)
F I V E

×2 ×2 ×2 ×2

12

6 9 22 5

18 44 10

And,

F O U R
×2 ×2 ×2 ×2

12

6 15 21 18

30 42 36

Similarly,

T H R E E
×2 ×2 ×2 ×2 ×2

40

20 8 18 5 5

16 36 10 10

21. (a)

22. (a) Y C G
+4 +4

I M Q

+4 +4

S V Z

+3

(Odd)

+4

C G K

+4 +4

M Q U

+4 +4

23. (a) K J E

–1 –5

(Odd)

J H D
–2 –4

F D Z

–2 –4

A Y U

–2 –4
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24. (b) 342 × 18 + 79 – 45  3
'+' and '–' are interchanged
and '×' and ' '  are
interchanged.

 342  18 – 79 + 45 × 3
 19 – 79 + 45 × 3
 19 – 79 + 135
 154 – 79
 75

25. (c)
24

7
 is related to 

12

7


24

7
 2 = 

12

7

And,

11

15
 is related to 

11

30


11

15
  2 = 

11

30

Similarly

9

13
 is related to


9

13
 2


9

26

B-GENERAL AWARENESS
26. (d) Prince Siddhartha

Gautama was born on the
occasion of Buddha
Purnima. He later founded
Buddhism. This festival is
celebrated on the full moon
day of the month of
Vaishakh and is also called
Vaishakh Purnima. On this
day, Buddhists worship,
meditate and discuss

religion in temples./jktdqekj
fl¼kFkZ xkSre dk tUe cq¼ iwf.kZek
ds volj ij gqvk FkkA mUgksaus ckn esa
ckS¼ /eZ dh LFkkiuk dhA ;g R;kSgkj
oS'kk• eghus dh iwf.kZek dks euk;k
tkrk gS vkSj bls oS'kk• iwf.kZek Hkh
dgrs gSaA bl fnu ckS¼ /ekZoyach
eafnjksa esa iwtk] è;ku vkSj /eZppkZ
djrs gSaA

27. (c) After the death of Swami
Dayanand Saraswati
(1883), his followers
established the Dayanand

Anglo Vedic School in
Lahore. Its objective was to
provide modern and Vedic
education according to the
teachings of Swami
Dayanand and the
principles of Arya Samaj.
This institution is an
important contribution of
Arya Samaj in the field of

education./Lokeh n;kuan ljLorh
dh e`R;q (1883) ds ckn muds
vuq;kf;;ksa us ykgkSj esa n;kuan ,aXyks
oSfnd Ldwy dh LFkkiuk dhA bldk
mís'; Lokeh n;kuan dh f'k{kkvksa vkSj
vk;Z lekt ds fl¼karksa ds vuqlkj
vk/qfud vkSj oSfnd f'k{kk çnku djuk
FkkA ;g laLFkk f'k{kk ds {ks=k esa vk;Z
lekt dk egRoiw.kZ ;ksxnku gSA

28. (a) The Western Coastal Plains
are spread along the
western coast of India.
These plains are spread
from the Gujarat coastal
area in the north to Kerala
in the south. This coastal
plain is divided into three
parts - Kathiawar and
Gujarat coast, Konkan
coast, Karnataka coast and

Malabar coast./if'peh rVh;
eSnku Hkkjr ds if'peh leqæ rV ds
lkFk iQSys gq, gSaA ;s eSnku mÙkj esa
xqtjkr rVh; {ks=k ls ysdj nf{k.k esa
dsjy rd iQSys gq, gSaA bl rVh;
eSnku dks rhu Hkkxksa esa ck¡Vk tkrk
gSµ dkfB;kokM+ o xqtjkr rV] dksad.k
rV] dukZVd rV vkSj ekykckj rVA

29. (b) Separation of the executive
from the judiciary is
mentioned in the Indian
Constitution under Article
50. This article is included
in the Directive Principles
of State Policy. Its purpose
is to ensure the
independence of the
judiciary and guarantee the
impartial administration of

justice./dk; Z i k fydk d k
U;k;ikfydk ls i`FkDdj.k Hkkjrh;
lafo/ku esa vuqPNsn 50 ds rgr
mYysf•r gSA ;g vuqPNsn jkT; ds

uhfr funZs'kd fl¼karksa (Directive

Principles of State Policy) esa
'kkfey gSA bldk mís'; U;k;ikfydk
dh Lora=krk lqfuf'pr djuk vkSj
U;k; ds fu"i{k ç'kklu dh xkjaVh
nsuk gSA

30. (a) The Malabar Coast is a long
and narrow coastal plain
on the southwestern coast
of India. It lies between the
Western Ghats and the
Arabian Sea. This area
covers most of the state of
Kerala and the southern
coast of Karnataka.

• Main cities: The major

cities on this coast include
Mangalore, Kannur,
Kozhikode, Kochi and
Thiruvananthapuram.

• Other coasts:

• Konkan Coast: It lies

between Mumbai and Goa.

• Utkal Coast: It lies in

Odisha.

• Coromandel Coast: It lies

in Tamil Nadu.

ekykckj rV Hkkjr ds nf{k.k&if'peh
rV ij ,d yack vkSj ladjk rVh;
eSnku gSA ;g if'peh ?kkV vkSj vjc
lkxj ds chp fLFkr gSA ;g {ks=k
dsjy jkT; ds vf/dka'k fgLls vkSj
dukZVd ds nf{k.kh rV dks doj
djrk gSA

• eq[; 'kgj% bl rV ds çeq• 'kgjksa
esa eSaxyksj] dUuwj] dksf>dksM] dksfPp
vkSj fr#ouariqje 'kkfey gSaA

• vU; rV%
• dksad.k rV% ;g eqacbZ vkSj xksok ds

chp fLFkr gSA
• mRdy rV% ;g vksfM'kk esa fLFkr gSA
• dksjkseaMy rV% ;g rfeyukMq esa

fLFkr gSA
31. (c) The economy is mainly

divided into three sectors:

• Primary Sector: It

includes activities that are
produced using natural
resources directly, such as
agriculture, mining,
fishing, and forestry.
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• Secondary Sector: It

involves transforming raw
materials obtained from the
primary sector into finished
products through
manufacturing and
processing, such as car
manufacturing, textile
production, and building
construction.

• Tertiary Sector: It is also

called the service sector. It
involves providing services
that support the other two
sectors and does not
directly produce goods.
Examples include
education, healthcare,
transportation, banking,
insurance, and trade.

vFkZO;oLFkk dks eq[; :i ls rhu
{ks=kksa esa foHkkftr fd;k tkrk gS%

• çkFkfed {ks=k% blesa çkÑfrd lalkèkuksa
dk lh/k mi;ksx djds mRikfnr gksus
okyh xfrfof/;ka 'kkfey gSa] tSls Ñf"k]
•uu] eRL; ikyu vkSj okfudhA

• f}rh;d {ks=k% blesa çkFkfed {ks=k ls
çkIr dPps eky dks fofuekZ.k vkSj
çlaLdj.k ds ekè;e ls rS;kj mRiknksa
esa cnyuk 'kkfey gS] tSls dkj fuekZ.k]
diM+k mRiknu vkSj Hkou fuekZ.kA

• r`rh;d {ks=k % bls lsok {ks=k Hkh
dgk tkrk gSA blesa ,slh lsok,a çnku
djuk 'kkfey gS tks vU; nks {ks=kksa dks
lgk;rk çnku djrh gSa vkSj lh/s
eky dk mRiknu ugha djrh gSaA
mnkgj.kksa esa f'k{kk] LokLF; lsok]
ifjogu] cSafdax] chek vkSj O;kikj
'kkfey gSaA

32. (a)

Article Objective/mís';
/vuqPNsn

Article 39: It directs the State to
secure adequate means
of l ivelihood for its
citizens, prevent
concentration of wealth
and means of
production, ensure
equal pay for equal
work for both men and
women, and formulate
policies to protect the
health of workers.

Article 44: It directs the state to
strive to achieve a
Uniform Civil Code for
the citizens throughout
India. Its aim is to bring
uniformity in personal
laws for all citizens.

Article 38: It directs the State to
establish a social order
for promoting the
public welfare,
ensuring social,
economic and political
justice and minimising
the inequalities in
income, status, facilities
and opportunities.

Article 40: It directs the State to
organise village
panchayats and endow
them with the necessary
powers and authority to
enable them to function as
units of self-government.

vuqPNsn 39% ;g jkT; dks ukxfjdksa ds fy,
thfodk ds i;kZIr lk/u lqjf{kr
djus] /u vkSj mRiknu ds lkèkuksa
ds ladsUæ.k dks jksdus] iq#"kksa
vkSj efgykvksa nksuksa ds fy, leku
dke ds fy, leku osru
lqfuf'pr djus] vkSj Jfedksa ds
LokLF; dh lqj{kk ds fy, uhfr;k¡
cukus dk funZs'k nsrk gSA

vuqPNsn 44% ;g jkT; dks iwjs Hkkjr esa ukxfjdksa
ds fy, ,d leku ukxfjd
lafgrk çkIr djkus dk ç;kl
djus dk funZs'k nsrk gSA bldk
mís'; lHkh ukxfjdksa ds fy,
O;fDrxr dkuwuksa esa ,d:irk
ykuk gSA

vuqPNsn 38% ;g jkT; dks tu dY;k.k dks
c<+kok nsus ds fy, ,d lkekftd
O;oLFkk LFkkfir djus dk funZs'k
nsrk gS] ftlesa lkekftd] vkfFkZd
vkSj jktuhfrd U;k; gks vkSj
vk;] fLFkfr] lqfo/kvksa vkSj
voljksa dh vlekurkvksa dks de
fd;k tk,A

vuqPNsn 40% ;g jkT; dks xzke iapk;rksa dks
laxfBr djus vkSj mUgsa Lok;Ùk
'kklu dh bdkb;ksa ds :i esa
dk;Z djus esa l{ke cukus ds
fy, vko';d 'kfDr;ka vkSj

vfèkdkj çnku djus dk funZs'k
nsrk gSA

33. (b) The 101st Constitutional
Amendment Act, 2016 was
passed to implement the
Goods and Services Tax
(GST) in India. It came into
effect from 1 July 2017.
Under this, the indirect tax
system of the Center and
the States was integrated
and the system of "one
nation, one tax" was

implemented./Hkkjr esa oLrq ,oa
lsok dj dks ykxw djus ds fy,
101osa lafo/ku la'kks/u vf/fu;e]
2016 dks ikfjr fd;k x;k FkkA ;g
1 tqykbZ 2017 ls çHkkoh gqvkA blds
varxZr dsaæ vkSj jkT;ksa dh ijks{k dj
ç.kkyh dks ,dhÑr fd;k x;k vkSj
¶,d jk"Vª] ,d dj¸ dh O;oLFkk
ykxw gqbZA

34. (d) Khizr Khan established the
Syed dynasty by capturing
Delhi in 1414 AD. He
defeated the last Tughlaq
ruler and took over the
throne of Delhi. This
dynasty was the fourth
dynasty to rule the Delhi
Sultanate from 1414 to

1451 AD./f•tz •ku us 1414 bZ-
esa fnYyh ij vf/dkj djds lS;n
jktoa'k dh LFkkiuk dhA mlus vafre
rqxyd 'kkld dks gjkdj fnYyh dh
xíh laHkkyh FkhA ;g jktoa'k 1414
ls 1451 bZ- rd fnYyh lYrur ij
'kklu djus okyk pkSFkk jktoa'k FkkA

35. (a) Kaanum Pongal is the
fourth and last day of the
four-day Pongal festival in
Tamil Nadu. On this day
families and friends get
together and wish each
other. This day symbolizes
strengthening family ties

and social interaction./dkuqe
iksaxy rfeyukMq esa pkj fnolh; iksaxy
mRlo dk pkSFkk vkSj vafre fnu gSA
bl fnu ifjokj vkSj nksLr ,d lkFk
feyrs g S a  vk Sj ,d&nwlj s dk s
'kqHkdkeuk,a nsrs gSaA ;g fnu ikfjokfjd
laca/ksa dks etcwr djus vkSj lkekftd
esytksy dk çrhd gSA
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36. (b) In 1947, at the time of
independence, the Indian
economy was mainly based
on agriculture. At that
time, most of the country's
population depended on
agriculture for their
livelihood. The agriculture
sector contributed more
than 50% of India's GDP,
making it the most
important compared to all
other sectors. The
contribution of the
manufacturing and service
sectors was much less./

1947 esa] Lora=krk ds le;] Hkkjrh;
vFkZO;oLFkk eq[; :i ls Ñf"k ij
vk/kfjr FkhA ml le;] ns'k dh
vf/dka'k vkcknh viuh vkthfodk
ds fy, Ñf"k ij fuHkZj FkhA Ñf"k {ks=k
dk Hkkjr ds ldy ?kjsyw mRikn esa
50» ls vf/d dk ;ksxnku Fkk] tks
bls vU; lHkh {ks=kksa dh rqyuk esa
lcls egRoiw.kZ cukrk FkkA fofuekZ.k
vkSj lsok {ks=k dk ;ksxnku cgqr de
FkkA

37. (d) The SI unit ampere (A) is
used to measure electric
current.

• Volt: Measures the electric

potential difference.

• Tesla: Measures the

intensity of the magnetic
field.

• Coulomb: Measures
electric charge.
Thus, the standard unit of
measurement of electric

current is ampere.

fo|qr /kjk dks ekius ds fy, ,lvkbZ
(SI) ek=kd ,Eih;j dk mi;ksx fd;k
tkrk gSA

• oksYV% fo|qr foHko varj ekirk gSA
• VsLyk% pqacdh; {ks=k dh rhozrk ekirk

gSA
• dwykWe% fo|qr vkos'k ekirk gSA

bl çdkj] fo|qr /kjk dh eki dk
ekud ek=kd ,Eih;j gSA

38. (c) The famous Jagannath
Rath Yatra of Puri is
celebrated every year as the
journey of Lord Jagannath,
his brother Balabhadra

and sister Subhadra. This
journey commences on the
second day of the Shukla
Paksha of the Ashadh
month. On this day, a
grand procession of the
three deities is taken out
which is called 'Rath

Yatra'./iqjh dk çfl¼ txUukFk
jFk ;k=kk gj o"kZ Hkxoku txUukFk]
muds HkkbZ cyHkæ vkSj cgu lqHkæk
dh ;k=kk ds :i esa eukbZ tkrh gSA
;g ;k=kk vk"kk<+ ekl ds 'kqDy i{k
dh f}rh;k frfFk ls çkjaHk gksrh gSA
bl fnu rhuksa nsorkvksa dh HkO;
'kksHkk;k=kk fudkyh tkrh gS ftls ^jFk
;k=kk* dgk tkrk gSA

39. (d) The Thar Desert is spread
in Rajasthan in the
northwestern part of India.
It is famous for its dry
climate, scanty rainfall,
high temperature and dry
winds. Neither dense
forests nor large river
valleys are found here.
Rocky mountains are also
not its specialty. Its most
prominent feature is sand
dunes, which are formed by
the deposition of sand by

wind./Fkkj e#LFky Hkkjr ds
mÙkj&if'peh Hkkx esa jktLFkku esa
iQSyk gqvk gSA ;g 'kq"d tyok;q]
vR;Yi o"kkZ] vf/d rkieku vkSj
'kq"d gokvksa ds fy, çfl¼ gSA ;gk¡
u rks ?kus ou ik, tkrs gSa] u gh cM+h
unh ?kkfV;k¡A jkWdh ioZr Hkh bldh
fo'ks"krk ugha gSaA bldh lcls çeq•
fo'ks"krk gS µ ckyw ds fVCcs] tks gok
ds }kjk jsr ds teko ls curs gSaA

40. (c) The Mahatma Gandhi
National Rural
Employment Guarantee
Act (MGNREGA) was
implemented in the year
2005. Its main goal is to
provide economic security
to rural families. Under
this, every adult member of
every rural family, who is
willing to do unskilled
physical work, is
guaranteed a minimum of

100 days of wage
employment in a financial

year./egkRek xka/h jk"Vªh; xzkeh.k
j k s tx k j x k j a V h  vf/ fu;e
(MGNREGA) o"kZ 2005 esa ykxw
fd;k x;k FkkA bldk eq[; y{;
xzkeh.k ifjokjksa dks vkfFkZd lqj{kk
çnku djuk gSA blds varxZr çR;sd
xzkeh.k ifjokj ds o;Ld lnL; dks]
tks vdq'ky 'kkjhfjd dk;Z djus ds
bPNqd gSa] ,d foÙkh; o"kZ esa U;wure
100 fnu dk etnwjh jkstxkj miyC/
djkus dh xkjaVh nh tkrh gSA

41. (a)
1. Non-cooperation (1920-

1922) : Led by Mahatma
Gandhi; Boycott of foreign
clothes, resignation from
government posts,
promotion of Swadeshi and
Khadi in protest against
British rule.

2. Civil Disobedience
Movement (1930-1934):
Started with Salt
Satyagraha by Gandhiji;
violation of British laws,
non-payment of taxes,
boycott of foreign goods.

3. Quit India Movement
(1942): Gandhi's "Quit
India" slogan during World
War II; aim was to achieve
complete independence.

4. Ghadar Movement 1913–
1919 (main activity):
Revolutionary movement
organised from abroad
(USA, Canada) by
expatriate Indians; aim was
to liberate India through
armed struggle.

1. vlg;k s x vk a n k syu
(1920&1922)% egkRek xka/h ds
usr`Ro esa_ fczfV'k 'kklu ds fojks/ esa
fons'kh oL=kksa dk cfg"dkj] ljdkjh
inksa ls R;kxi=k] Lons'kh vkSj •knh
dk çpkjA

2. lfou; voKk vk a n k syu
(1930&1934)% xka/hth }kjk ued
lR;kxzg ls 'kq:_ fczfV'k dkuwuksa dk
mYya?ku] dj u nsuk] fons'kh oLrqvksa
dk cfg"dkjA
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3. Hkkjr NksM+ks vkanksyu (1942)%
f}rh; fo'o ;q¼ ds nkSjku xka/hth
dk ¶vaxzstksa Hkkjr NksM+ks¸ ukjk_ mís';
iw.kZ Lora=krk çkIr djukA

4. xnj vkanksyu 1913&1919 (eq[;
lfØ;rk)% çoklh Hkkjrh;ks a }kjk
fons'kksa (vesfjdk] dukMk) ls laxfBr
Økafrdkjh vkanksyu_ y{; Hkkjr dks
l'kL=k la?k"kZ }kjk Lora=k djkukA

42. (c) Leptin is a hormone
produced by the body's fat
cells (adipocytes).

• It plays an important role

in regulating energy
balance, hunger and body
weight, signaling the brain
that the body has adequate
energy reserves.

• Leptin interacts with the

hypothalamus, a part of the
brain that regulates hunger
and satiety.

ysfIVu 'kjhj dh olk dksf'kdkvksa
(,fMikslkbV~l) }kjk mRikfnr ,d
gkekZsu gSA

• ;g ÅtkZ larqyu] Hkw• vkSj 'kjhj ds
otu dks fofu;fer djus esa egRoiw.kZ
Hkwfedk fuHkkrk gS] ;g efLr"d dks
ladsr nsrk gS fd 'kjhj esa i;kZIr
ÅtkZ HkaMkj gSA

• ysfIVu gkbiksFkSysel ds lkFk ijLij
fØ;k djrk gS] tks efLr"d dk ,d
fgLlk gS tks Hkw• vkSj r̀fIr dks fu;af=kr
djrk gSA

43. (b) Fructose is a naturally
occurring sugar. It is the
sweetest sugar.
It is a 'monosaccharide',
meaning the simplest form
of sugar, meaning it cannot
be broken down into more
basic sugar units. The
chemical formula of
fructose is C

6
H

12
O

6
.

ÚDVkst çkÑfrd :i ls ikbZ tkus
okyh phuh gSA ;g lcls ehBh phuh
gSA
;g ,d ^eksukslSdjkbM* gS] ftldk
vFkZ phuh dk lcls ljy :i gS]
ftldk vFkZ gS fd bls vf/d
cqfu;knh phuh bdkb;ksa esa rksM+k ugha

tk ldrk gSA ÚDVkst dk jklk;fud
lw=k C

6
H

12
O

6 
gSA

44. (b)
45. (a) Documentation is used to

visually plan a site, keeping
in mind the purpose,
audience and content to
design the most
appropriate site structure,
content and interaction for

the website./osclkbV ds fy,
lcls mi;qDr lkbV lajpuk] lkexzh
vkSj baVjSD'ku dks fMtkbu djus ds
mís';] n'kZdksa vkSj lkexzh dks è;ku
esa j•rs gq, nLrkosthdj.k dk mi;ksx
lkbV dh n`f"V ls ;kstuk cukus ds
fy, fd;k tkrk gSA

46. (d)
47. (a)
48. (a)
49. (c)
50. (a)

C - QUANTITATIVE APTITUDE
51. (d) Product of two numbers =

H.C.F × L.C.M
= 7 × 245
= 1715

52. (a) Using the rule of alligation

4

7

5

8

3

7

: 4

7

4

7

3

7
––

5

8


3

56
 : 

1

7
 3 : 8

53. (b) Let the smaller number = x
Larger number = 6x + 15
ATQ,
6x + 15 – x = 1365
5x + 15 = 1365
5x = 1365 – 15
5x = 1350
x = 270

54. (c) Let, 3 consecutive even
number (x – 2), x, (x + 2)
Average =

   x – 2  + x + x + 2

3
 = 24

 3x = 72
 x = 24

Largest number = (x + 2)
= (24 + 2) = 26
Smallest number = (x – 2)
= (24 – 2) = 22
Difference = 26 – 22 = 4

55. (c) Greatest common Divisor
70 and 130 is 10
Number of boxes for pens

= 
70

10
 = 7

Number of boxes for pencil

= 
130

10
 = 13

Total number of boxes = 7
+ 13 = 20

56. (a) Number of letters in BIHAR
word is = 5
Number of ways can the
letters of word BIHAR be
arranged where each such
letter appears exactly once
= 5!
= 5 × 4 × 3 × 2 × 1
= 120

57. (c) a = 5, d = –3
a

n
 = a + (n – 1)d

a
20

 = 5 + (20 – 1)(–3)
a

20
 = 5 – 57

a
20

 = – 52

58. (b)

120ºx
A

y

P

C
B

Q R

ABP  + PBC  = 180º

x + 120º = 180º  x = 60º

ABP  and PRQ  are

corresponding angles
So,

ABP  = x = y = 60º

59. (a)

O

A B

13

5

By using the Pythagoras
theorem,
Hypotenus2 =
Prependicular2 + Base2

132 = OC2 + 52

169 – 25 = OC2

OC = ±12
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60. (d) a2 = 400
a = 20
The side of square = 20
So, Perimeter = 20 × 4
                      = 80cm
ATQ,
2 (L + 12) = 80
L + 12 = 40
L = 28 cm
Area of the rectangle
= 28 × 12 = 336 cm2

61. (b) ATQ,
Work Efficiency Ratio =

P : Q

13 : 10
Combine Efficiency
= 10 + 13 = 23
Total work = work
Efficiency of P × Total time
taken by P
= 13 × 23
Total time taken

= 
Work

Combine Efficiency

= 
13 × 23

23
 = 13 days

62. (d) ATQ,
(8M +12W) × 10 = (6M +
8W) × 14
80M + 120W = 84M + 112W
4M = 8W

M 2
 = 

W 1
Number of days taken by 2
women and 1 man is D.
D × (1M + 2W) = 10 × (8M +
12W)
D × (1 × 2 + 2 × 1) = 10 × (8
× 2 + 12 × 1)
4D = 280
D = 70 days.

63. (d) Time taken for the first part

= 
Distance

Speed  = 
80

20
 = 4 hrs.

Time taken for the second

part = 
Distance

Speed  = 
30

30

= 1 hrs.
Total distance = 80 + 30
= 110 km
Total time = 4 + 1 = 5 hrs.
Average Speed

= 
Total Distance

Total Time
 = 

110

5

= 22km/h
64. (a) Length of train = Speed ×

Time

= 60 × 
1

30
 = 2km

Length of train = 2 × 1000
= 2000 meters

65. (c) 1600 + 81

= 40 + 9  = 49  = 7

66. (a) Product of number = 726
(2x) × (3x) = 726
6x2 = 726
x2 = 121
x = 11
Smallest number = 2x
= 2 × 11 = 22

67. (c) Total votes = 526 + 1132 +
5432 + 2400
= 9490
Votes of the winning
candidate = 5432
Winning candidate

percentage = 
5432

9490
 × 100

= 57.23%
68. (c) Let,

t = 7k and u = 4k
7t = 7 × 7k = 49k
4u = 4 × 4k = 16k

 (7t + 4u) = 49k + 16k = 65k
 (7t – 4u) = 49k – 16k = 33k

Now,
(7t + 4u) : (7t – 4u)
65k : 33k
65 : 33

69. (b) Isha's Investment = x
Anshu's Investment
= 44300 – x


Isha's Profit

Total Profit

= 
Isha's Investment

Total Investment


1400

7000
 = 

x

44300
x = 8860
Anshu's Investment
= 44300 – 8860

= `35,440

70. (d) Saving on notebook
= 35 × 20% = `7
Saving on pen = 100 × 79%
= `79
Total Saving = `7 + `79
= `86

71. (c) 2 cosec2 + 3cot2 = 17
2(1 + cot2) + 3cot2 = 17
2 + 2cot2 + 3cot2= 17
2 + 5 cot2= 17
5cot2= 15
cot2= 3

cot= 3
= 30º

72. (c) x + 
1

x
 = 15

 
 

2

2

7x  – 9x + 7

x  – x + 1

= 

7
x 7x – 9 + 

x
1

x x – 1 + 
x

 
  

 
  

= 

1
7 x + – 9

x
1

x + – 1
x

 
  

 
  

= 
15 

15

7 × – 9

– 1
 = 

105 – 9

14

= 
96

14
 = 

48

7

73. (d)

33

3

sin  – 2sin 1

2cos  – cos tan

 
  

 

  
 –

sec2


 
 

3
2

2

sin 1 – 2sin 1

tancos 2cos –1

 
 

 

 

 

– sec2


 
 

3
2

2

sin 1 – 2sin 1

tancos 2cos –1

 
 

 

 

 

– sec2


 
 

3

2

2

sin cos 1

cos cos tan

 
 

 

 

    –

sec2



3
sin 1

cos tan

 
  



 
 – sec2


3tan

1

tan
 


 – sec2

 tan2– sec2
 – (sec2–tan2)
 – 1
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74. (b) PS  QR  we have two

right-angled triangles

PSQ and PSR

For PSR

PR2 = PS2 + SR2 ...(i)

For PSQ

PS2 + QS2 = PQ2

QS2 = PQ2 – PS2 ...(ii)

Adding these two equation

PR2 + QS2 = PS2 + SR2 + PQ2

– PS2

PR2 + QS2 = SR2 + PQ2

75. (b) ATQ,

rt

100
 = 6

r × 14

100
 = 6

r = 42.86%

Now,

rT

100
 = 17

42.86 × T

100
 = 17

T = 
1700

42.86

T = 39.67 years

D-ENGLISH COMPREHENSION

76. (c) Frenzy (ludh) means a

state of uncontrolled

excitement or wild

behaviour, similarly

Berserk (vR;f/d mÙksftr)
means violently frenzied.

Silent ('kkar) means quiet or

calm.

Creative (jpukRed) means

having the ability to invent

or produce original ideas.

77. (d) “a young age” refers to a

specific point in a child’s

life.

Therefore, “at” is used to

indicate a specific point in

time, age, or stage.

78. (a) Sensitivity (laosnu'khyrk)
means the ability to

respond, while

Imperviousness (vlj u gksus
dh {kerk) means not affected.

Willingness (rRijrk) means

readiness or desire.

Responsiveness (çfrfØ;k nsus
dh {kerk) means the ability

to react quickly.

Closeness (fudVrk) means

nearness in space, time, or

relationship.

79. (a) Correct order is PSQR.

P introduces the topic of

discussion.

S presents the first

argument comparing

Venus with Earth.

Q presents the second

person’s argument about

solar energy.

R explains the role of

Venus’s thick, greenhouse-

gas-rich atmosphere.

80. (c) Crooked (/ w r Z )  means

dishonest or deceitful,

while Straightforward

(bZekunkj) means honest and

direct.

Polite (foue z)  means

showing good manners.

Generous (mnkj) means

willing to give or share.

Happy (•q'k) means feeling

or showing pleasure or

contentment.

81. (a) Staunch (n`<+) means firm,

loyal, or strongly

committed, especially in

belief.

Powerful ('kfDr'kkyh) means

having great strength or

influence.

Cheerful (galeq•) means

noticeably happy or

optimistic.

Hopeful (vk'kkoknh) means

feeling or inspiring

optimism about the future.

82. (c) The phrase “don’t have

problems too” is a double

negative and redundant.

It should be: “other people

have problems too.

83. (c) The correct spelling is

Communities (lkeqnkf;d
lewg) which means groups

of people living together or

having common interests.

84. (c) Retrogression (fiNyh fLFkfr
esa ykSVuk) means a return to

an earlier, less advanced,

or worse state.

85. (a) One way (,d rjhdk) means

a single method or

approach, which is why it

is followed by the singular

form of a noun—it

emphasizes each individual

method rather than

multiple methods together.

86. (c) Rift in the lute (laca/ esa njkj
@ >xM+k) means a break or

disagreement that causes

disharmony, especially

among people or in

relationships.

A cry in the wilderness ’!

an ignored or unheeded

complaint or plea.

Hair breadth ’! a very small

margin or distance.

Tenterhooks ’! in a state of

anxious suspense.

87. (d) Correct order is RSQP.

R introduces the idea:

Instead of worrying about.

S specifies the object: What

you cannot.

Q gives the advice: Control,

shift your energy.

P concludes the thought:

To what you create.

88. (d) Active Voice Structure

(Interrogative): Will + you

(subject) + give (base verb)

+ me (object) + an

independent project (object

complement)?

Passive Voice Structure

(Interrogative): Will + I

(object of active ’! subject of

passive) + be given (be +

past participle) + an

independent project (object

complement) + by you

(original subject)?
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89. (b) The pronoun “him” is

incorrect here. After

“about”, we need a

possessive pronoun (his)

to show that the visit

belongs to him.

90. (c) Black sheep (dyadh) refers

to a person who is not

accepted as part of a

family or group because

of one’s bad conduct, like

a black sheep in a herd of

white sheep, standing out

from the others.

91. (a) Philology (H k k " k k  foK ku)
means the study of

languages, their history,

and development.

Anthropology (ekuo'kkL=k) 
study of humans and

societies.

Lexicography ('kCndk s' k
foKku)  the art or practice

of compiling dictionaries.

Philosophy (n'kZu'kkL=k) 
study of fundamental

nature of knowledge,

reality, and existence.

92. (b) “could have” is a modal

verb + have, is followed by

the (have spent)(V3) of the

main verb to indicate a

possibility in the past.

93. (a) Active Voice Structure:

May God (subject) + bless

(base verb) + you (object) +

with good health (object

complement).

Passive Voice Structure:

May you (subject) + be

blessed (be + past

participle) + with good

health + by God (original

subject).

94. (a) help in reducing

After “may”, we need

either the base verb or a

gerund with “in”.

95. (b) The correct spelling is

Congregation (laxfBr lewg @
lHkk) which means a group

of people assembled for a

common purpose,

especially for religious

worship.

96. (b)

97. (b)

98. (b)

99. (c)

100.(c)

ANSWER KEY

1. (c)

2. (c)

3. (b)

4. (c)

5. (d)

6. (a)

7. (d)

8. (a)

9. (d)

10. (d)

11. (b)

12. (c)

13. (b)

14. (a)

15. (a)

16. (b)

17. (c)

18. (a)

19. (a)

20. (d)

21. (a)

22. (a)

23. (a)

24. (b)

25. (c)

26. (d)

27. (c)

28. (a)

29. (b)

30. (a)

31. (c)

32. (a)

33. (b)

34. (d)

35. (a)

36. (b)

37. (d)

38. (c)

39. (d)

40. (c)

41. (a)

42. (c)

43. (b)

44. (b)

45. (a)

46. (d)

47. (a)

48. (a)

49. (c)

50. (a)

51. (d)

52. (a)

53. (b)

54. (c)

55. (c)

56. (a)

57. (c)

58. (b)

59. (a)

60. (d)

61. (b)

62. (d)

63. (d)

64. (a)

65. (c)

66. (a)

67. (c)

68. (c)

69. (b)

70. (d)

71. (c)

72. (c)

73. (d)

74. (b)

75. (b)

76. (c)

77. (d)

78. (a)

79. (a)

80. (c)

81. (a)

82. (c)

83. (c)

84. (c)

85. (a)

86. (c)

87. (d)

88. (d)

89. (b)

90. (c)

91. (a)

92. (b)

93. (a)

94. (a)

95. (b)

96. (b)

97. (b)

98. (b)

99. (c)

100.(c)


